
3 (Sem-1) BOD M 1

2 0 16

BODO

( Major )

Paper : 1.1

Full Marks : 80

Time : 3 hours

The figures in. the margin indicaieJuU marks
for the questions.

Answer in Bodo

1. T!^ MM M :
1x10=10

(^) MM ^ ^ Ml

(^) li MM ^ i Mi
(^) MM Mf w Ml

(^) MnM Mr MsMr ^fei^rar g
Ml

(^) Mi% Mir MiM r?

(R) T^u^K^Hi MiM R?

(If) 'Mr' eiT?% R^hhmPi «iTfe rM Mi
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Paper : 1.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicateJuU marks
for the questions.

Answer in Bode

1. ^ MM M :
1x10=10

(^) MM ^ 5 Ml

(^) li MM i Ml
(T) MM MM MM M w "5 Mi

(^) MhPi MsiMr ^<ri«imi g
Ml

(^) Mir 1M^ Iff?

(^) f^o mm ^ ful

(If) 'Mr' '^rM rM Mi

K7IZ1 (Turn Over)



( 2 )

(^) ^ qmpn^

(^)

(31) ^nif^RR x'RTf^ T§^
•rA xsRnifhto "5 1^1

2. i^nt te ^ : 2x5=10

(^) 'Tl^

(^) 3MTi^fRRR Ttsn?

(tt) Kachari Folktales and Rh5nnes

(^) '1^' ^ TFTSn#ft STRt TFRT^ ^
1^1

(^) 'WFRfer dl^Rl^N ^
^ wn# g 1^1

3. (^inRs-'̂ ini hI'I^) : 5x4=20

(^) ^^«n# 1^1

(13) Hu^dR f^l

(r) IIrr ^rff^FFki

(^) "fNn?' 1^^i

(^) toR 3?R 3|jldKHM dl^RiM>')<l

(^) ^ ^ wmnR #5nR
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( 3 )

4. ^ -RT? w! ^ STHFT ^
^NN "^1 4+6=10

li ^RNW ?TRR ^d«<|VtJlPl "^TFH^
"^l 10 •

5. ^toRFT 3TKt I^RRlftR^

#R^ 1^1 10

%sf^ 3Tld %o 1^o TTDSR^HT
41^ ^kim\ 1^1 5+5=10

6. '1^' cTT?f^ 3fteRRl^ 1^ 4T 4T
1^1 10

"'ton'

^nR^hh en^i" Tiimii 1^(^<hi 1^i lo

7. 'W ^RdHM t'hiRcH ^TSTpn WH rI^I^iO 3TRt
3^'^ ^ *W(^ WT' cTliRnTM

^ter "to Rlnykli" R§^?n#
l^fyRRT "f^l • 10

T|[^

w' R^RHNPti^iR 1951 irmiiflPT
rVI^RWP,-Rkf^r M>WirI^ ^I 10

★ ★★
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( 2 )

(^) dl^lOPl 'TsRnf fefRT' ^ HWiUNM
3i1l§R^hfri?

(^) 'a^icRR' ^?

(^) '̂ i^iiRsi fmRch ^§:psni ienFTFT
^ WSTTlfitto -5 1^1

2. ^snt 1^ -^ : 2x5=10

(^) ^TT^

(ti) Kachari Folktales and Rhymes

(^) ^ wTTfi^rft 3tt^ Tmi# i
1^1

(^) "51 '̂ -tlsKslNHW ^
^ TPRTTlf^ i 1^1

3. i\\m^ ffR -Rkt) : 5x4=20

(4>) 1^I

(^) T^o|^ iitiM 1^1

(^) "^RR dl^Rl «nfe^ I

(^) 1^F5TRi

(^) 1^ dl^Rii^ ^3^ 3illdl<HH dl^[^4>1<l

t^) w %Tt w" ^HNpi
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( 3 )

4. ^ TIT? ^ 8IHFr ^
-^1 4+6=10

W.' ^ W5TR S?HT4 ^?eMTSni^ ^TFIR
"^I 10 '

5. 3Tkt %THFTR f^iyHlR4>*l<P)
1^1 10

srkt %o -f^o TTo^Ryqr w!

4RTf^ ^^iciHi f^l 5+5=10

6. '1^^' cTT^kr -Rirn 17T 4T [^<R|RMj'1<[^
arhiidhTki 1^1 10

T?[^

'"tor' dl^Rl^l %R
>=«iiciRidHw en^r 7§km#r 1^1 10

7. 'W ^HdWM T'HiRch j§^\M\ jm ktekt 3Trd
314'̂ ^ '̂ T«Rfe wt' ^n?Rnn^

iFWito •»TkR ^ mIw^sikI r' ii\^\ii\
Iqi< I • 10

"^3[T

WT' efTlkr 1951
kkkr "^1 10

★ ★ ★
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